HSSC CET Mains Group 55 Work Supervisor Question Paper 14 Jan 2024
HSSC CET MAINS GROUP 55 (SUPERVISOR CIVIL)

‘1. "The main occupation of Paleolithic
~ people is

' (A) Hunting
(B) Agriculture
(C) Pottery making
(D) Animal Husbandry
(E) Not attempted
2. The bearing of a line in the dire’ctidni'.
of the progress of survey is called = .-
(A) Back bearing | ¥
(B) Reverse bearing:
L/L@]_/- Fore bearing
(D) Front bearing
(E) Not attempted
3. The max:imllm-fmmbef of véhiéles tl::nrnf
a road that can pass a given point in .

an hour is defined as the of |-

road lane.
\}A)/ Capacity = (B) 'Ihefﬁciency |
(D) None of these I
(E) Not attempted .

4. Accelerators, nuﬁﬁaﬂy -'
setting time of concrete.

,V(A‘)/Increase s EAE
(B) Stops B ;] '
(C) Reduce - '
(D) None of the above . -
(E) Not attempted i
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S. A pitched roof is one where the slope -

the horizontal.

() 1° o -
(C) 5° (D) 10°
(E) Not attempted

in any plane exceeds _ to '
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6. What is th : .
e ?E: function of 5 ripper on a 6. TSI W o =5 T HE 2 2
! M/Tﬂ Push earth and rocks (A ?E& R E-E-Fﬁ I TR % fere
(B) To load materials onto the machine (B) T¥H R amift vl w1y 3 fora
(C) To crush hard rock (C) 3R =2M I FaeH & forw
(D) To move freely on marshy land (D) Seieett i W wes €9 Y 5e1 5 for
(E) Not attempted (E) 315
7. The of a building is th E o -
part of a structure that trai]:nﬁtz the " - b iy o
load to grﬂund to Suppﬂrtﬂ'lﬂ %ﬁaﬁmﬁm%%mﬁgﬁ
superstructure, | STHIT 9 g # |
. =N [a] :
\Jﬁ()/ Foundation % (A) LR
(B) Plinth Bl (B) Ty
(C) Beam (C) &im
(D) None of the above (D) YU | H IS 7
(E) Not attempted (E) 3T9=md
8. Carpet area of residential building is 8. IJEHN YW I $ie &5 <l
50% to 65 % of
| 50% ¥ 65% &l @ |
l/(B)’FIoor area (B) TAR TR E\CE
: - : B
(C) Plinth area (C) Teorr wi CREES:
(D) Site area (D) ®Ee Tien
(E) Not attempted | (E) 39
9. What is the recommended minimum | = 9. &f&m Al & Wi G ERIEK] ~Iaan e
spacing between hatching lines? ' RTE ?
. : f -
Less than twice the thickness o :
Vm/the heaviest line in the drawing (4) i wed 'qTfﬁ@T I “E"i‘ ®
(B) 0.7 mm or less aﬂﬁiiﬁw -
(C) More than twice the thickness of (B) O".? " N |
the heaviest line in the drawing (C) ST 5 Tl it T i e &
(D) There is no recommended 93 ‘
- (D) HIs it =gan R 7@ 2

minimum spacing

(E) Not attempted (E) AT

A
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10. is a type of semiconductor
memory that uses bi-stable latching

circuitry to store each bit.
\/m‘)/D}mamic Random Access Mecmory

~  (DRAM)
(B) Display Data Random Access
MEITI.DI)" (DDR:‘\M) n]y1 [m

(C) En Route Automation %@
Modernization (ERAM)

(D) Static Random Access Memory (SRAM)
(E) Not attempted

11. Everybody in a room shakes hands with

everybody else. The total number of
handshakes is 45. The total number of

persons in the room is
A) 9 ,V(B)/m
C) 5 (D) 15

(E) Not attempted

12. Characteristic compressive strength
of 15 cm cube after 28 days,

expressed in
(A) N/mm 1{})4/1111112
(C) N-mm (D) N/mm?3 *
(E) Not attempted
. is the ability of a

material to restore its initial form and
dimensions after the load is removed.

(A) Ductility \BJ™ Elasticity
(C) Porosity (D) Hardness
(E) Not attempted

is primarily used for
measuring horizontal and vertical
angles.

(A) Compass

(B) D’umpy level
/fCJ/ Theodolite
(D) Fly level

(E) Not attempted

—

T WhR ht Arficheer it 2

W S -Ree At afbett w1 3y

yeh fore ot TR et 2 |

() Safires Tw AR A (S

(B) feo=t s e tpag oG
(Siamuun)

(C) T & I AETHI ($3mamy)

(D) ¥ifes Teu vpEd At (T

(E) 3Tt

11. &7 H Yelsh Al Scdsh gat Al & 2
foremen 21 T 45 AR BT e T %5
T el SAfeRT 2

10.

(A) 9 (B) 10
(C) 5 (D) 15
(E) 375
12. 28 1Al & 91€ 15 At w7 F7 fasmeay
e ifts, T =6 T o
Hehdt 2 |
(A) N/mm (B) N/mm?
(C) N-mm (D) N/mm?
(E) 39miyg
13. 9R T & 915 ' 319 TS &7 3ik
AT et w0 6t e
HEATdt 2 |
(A) Tt (B) wi=
(C) Ty (D) FIRaT
(E) 3Ty
14.  &lfow 3 Feaferw it 1 w0t % fore
& €9 STANT Tt v 2 |
(A) HE
(B) s+t ww Ll
(C) Rriteiese DR
(D) WTTg Tae
(E) 3T9amiia
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15. Which of the followin

si6albldee o g 1s not a type of

(A) Suspension bridge
(B) Steel truss bridge
(C) Steel girder bridge

Vﬂf)’)/éegmental bridge
(E) Not attempted

[=]472
- (®]

E !

16. The exchange of services, information

and product from a business to a
consumer is

(B) C2C
(D) B2B
(E) Not attempted

17. Which number will come in the place
of question mark ?

A\ AN
\o3/

(A) 190

(B) 221

(C) 236
/ﬂﬁ;
(E) Not attempted

18. is a pipe which is used to
provide flow of air to or from drainage
system.

(A) Soil pipe
t/(B)/‘E.hent pipe

(C) Water pipe

(D) Waste pipe

(E) Not attempted

15.

16.

17.

18.

CG - ws24

Frfeiaa & @S-8 semw gor 51w
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(C) et firde forar

(D) Aee BB
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Uh SHIEE | ITHIIT T Han, gEe
3R ITE H1 IEH-JTH
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(A) C2B (B) C2C
(C) B2C (D) B2B
(E) TSt

T o o WIF W HF-4t T 3R 2

127 31

E] 12 [=]
(A) 190 &
(B) 221
(C) 236
(D) 255
(E) TR

T 159§ oreht 35 S
foeen 4 o1 3 R @ & 1 W9R WeH
& & fore R smar )

(A) Tort o ursy
(B) ¢ UIEY
(C) T % Uy
(D) SfRrg Urgy
(E) TS

G Scanned with OKEN S



% :

19. Additional moulding provided under

the nosing to improve the elevation of

step and to provide extra strength to
nosing end of stair is called

"
\AA) Scotia
(C) Going

(B) Flight
(D) Sofit
(E) Not attempted

20. Which drilling operation provides a
tapered entrance to the hole ?

™
H.LW Counter sinking -
(]I [a]

\,W"i‘appmg Ej .
t}ej/(lure drilling

L[D) Counter boring
(E) Not attempted

21. What is the main purpose of varnish ?
(A) To color surfaces

(B) To protect surfaces from damage

(C) To provide a matte finish

]/(ZB]/ To provide a shiny finish
(E) Not attempted

22. What is the angle between the three
mutually perpendicular edges of a
cube in an isometric drawing ?

(A) 90° \,{—E/ 120°
(C) 180° (D) 360°
(E) Not attempted

23. The machine parts of the computer is
called a

(A) Software
) Hardware

(C) Bits

(D) Data

Ao R b1 e ol e sy
& forw el ST ¢ |

(A) Tifen (B) Wz
(C) Mg (D) Hifthe

(E) Not attempted

T BT % ot T A R
(A) 90° (B) 120°
(C) 180° (D) 360°
(E) TS
23, FIX & W g T A2 |
(A) FIREE '-'-ME.,'
(B) B .
(C) focw
(D) =T
(E) i
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24. are SElPI'ﬂph : 3
Mmﬂﬁageuates TR 24. ‘F‘T‘ﬁ'ﬁ Tifew 7
(B) Euglenoids (A) STEAIRISIcTE
(C) Protozoans - (B) Fiise
(E) Not attempted (=] ((];; i Hies
25. Size of
o fiz concrete cube for compression [ 25. dAfigd yfier % o HEAe FE HT ATHN
(A) 100 x 100 x 100 mm BT 2 |
UBJ 150 x 150 x 150 mmm (A) 100 x 100 x 100 Tt
(C) 150 x 100 x 100 mm (B) 150 x 150 x 150 fih
(D) 120 x 120 x 120 mm (C) 150 x 100 » 100 fo
(E) Not attempted (D) 120 x 120 x 120 Toef
(E) TSR
26. What is the functi : ‘
fiuid in an excavator 5 7 oF S e 26. %ﬁ TRHAR T BRI 5 1 T B
?
(A) gﬂic:gers the cab and rotates the (A) IE s I WG <A1 & 30 ] Y
(B) It moves the undercarriage (B) I8 —Eﬁg e % oS = T %
AeT Tt lifts and 1 s the otk ssd (C) I8 I 3R Fehe I FIX 33T & 3K
bucket il e &
(D) It controls the excavator’s (D) ¥' 3@ % Wiah =t Fafa s
steering | 2
(E) Not attempted (E) ag-q-rﬁ;m
7. are end supports of the 27. < IR il 3ifem
superstructure of a bridge. h WI‘IT@ 39 = e
(A) Wing — walls (A) T — e :
(B) Piers (B) forrd -
(C) Approaches (C) T=™
AD) Abutments (D) TsgeHeH
(E) Not attempted (E) STRITEa
. Unit of measurement of Damp proof | 28. SM™ Y% g hl o 6H Wlé % |
course is |
(A) m (B "sq.m (A) m (B) sq.m
(C) kg (D) cu.m | (C) kg (D) cu.m
(E) Not attempted I (E) 39T

7. A
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29. What is the angle between the two 29. 'ﬁ;a_e %’5‘[ % QI Hfem o & g <hT iy
cutting lips of a twist drill ? C22] _b;lﬁ'l % 7
(A) 90° (B) 100° A) 90° (B) 100°
\jej/l 18° (D) 135° — C) 118° (D) 135°
(E) Not attempted A . E) 39T
e |
30. Manav Rachna International University | 30. '&'FGTWIT ﬁﬁ O g maﬁ@q ﬁwﬁm
of Haryana was carlier called as Col | ":_;IT
SIGIR
((;} PI:ur?lkshetra {nsﬁmte of Technology (A) —3,-—53(},-[ TR Tee
) National Institute of Technology B) TS qartehy o
\/Lej/ Career Institute of Technology (
and Management (C) R Tohfiehl 3t e weory
(D) Lingaya’s University (D) feritar [ELCICEIRE|
(E) Not attempted (E) T9ife
31. The Scientifi - | : :
ot asn C study of rocks is 31. SgMI & CRIIEES AT
hEIdl & |
V(Aj/Petqugy (A ﬁ@jﬁﬁ E%E
(B) Pathology (B'J Yefierisft Bli
(C) Pedalogy (CJ LA IS
(D) None of the above (D) SWie & § IS &
(E) Not attempted (E) 3T9=ITiyg
32. Small wooden blocks fixed on LIE]
principal rafter to prevent purlin 2 = 3 N e I T
from sliding are called T B TR s
| gl ST 8 |
(A) Cleat V(B']/ Batten (A) Tl
(C) Rid ‘ B) oy
ge (D) Hip rafter (C) ’& (D) 87 %R
(E) Not attempted (E) 3tsiéa

33. A wood panel glued under &
pressure 33. faffey o g (3meR
from an odd number (usually 3 to 13) ° » - : T u

of layers /piles of veneers is known as 13) 5 Wl B amE # fomes S %
U % & H
(A) Sapwood (B) Hardwood (A) ﬂtl'g?..' e ;ﬂ?ﬂ ‘@éga% | .
(C) Cardboard \031/ Plywood (C) FEE o :
(E) Not attempteq e
(E) 3T

(¥ Scanne d with OKEN Scanner



34. Which of the fnlluwi.ng

_ 1s a f
every plain acale o cature of

(A) The zero i_S Placed at the end of
the last division from left side

(B) The scale is divided int
Darts nto uncqual

(C) The sub-divisions arc marked in
tl‘m last division from zcro to left

e
\/Ml?e zero of the scale is placed at

the end of the first division from
left side |

(E) Not attempted

35. What is the function of a pipe laying
machine ?

(A) To push earth and rocks

(B) To load materials onto the machine

(C) To crush hard rock

\/[D)/TO lay down large steel pipes
(E) Not attempted

6. A
known elevation.
[=]4712[=]

3.
/{Aﬁ?{ench Mark el e

(B) Datum

(C) Back Sight
(D) Line of Sight
(E) Not attempted

7. The depression or bend provided in
a drainage system which is always
full of water and prevents the entry
of foul gases into the atmosphere 18

termed as a
(A) Tap (B) Sink

\(/O)/I‘rap (D) Water closet
(E) Not attempted

is the reference point of

35.

36.

37.

34. f=fefag o 4 SF-d s @
AT A A R 7

(A) I &g R | FAfow ferer & I |
>R

(B) Y e ani o =ier S g

(€) @f<m @vs # 3= | =, R ITEvs
3iferar & &

(D) | hY I =10 TF H UE farree
% 37d T @ ST 3

(E) 39

ursy feram smeft wefia =+ FE 2 7

(B) A W @l T & g

(C) TS Ush ol FHeH & (01T
(D) 3 Vel uigd fsoH % oY
(E) TSRITRIG

T JTd Ty I UeH 95
(A) S TTh
(B) ScH
(C) =i HT3e

(D) TS 3T HEE

(E) TSR

U Wt el STt H SR TR
IIaTERo § giAeheh TET & Jat <hl Tshdl
g, 39
(A) &

(€) &

(E) JTs=md

e
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(C) Fired clay and calcium silicate

\/(E)‘)/ Fired clay, calcium silicate and
concrete

(E) Not attempted

P}1rpﬂse of providing _ is to
dn?de the total length of bridge onto
suitable spans with minimum

 ——

obstruction to the stream of river.,
(A) Abutments
\/(Bj’ Piers
(C) Pile bents
(D) Approach

(E) Not attempted

44. Atleast windows on the
opposite walls serve effective
ventilation.

\/(A’]/ Two (B) Three
(C) Four (D) Five

(E) Not attempted

45. To enable free movement of traffic
around an urban area, a circumferential
road is cggstructed which is called

e

(A) Loop roads
(B) Ring road

U‘e)/B-V — pass road

(D) Trunk road

CG - ws24

42, ﬁﬁlm%méﬁ%ﬁﬁm%%{q
-2t fifirsr wmafiedt w1 v R '1
STl R 7 |
() e reht g8 firdh
(B) Sl 58 firdt o swihie |
(©) Teht & Reft e o faferine i
(D) sreft 7% fordt, Hfewram fuferpe i '

Hhie
(E) TS
43. Y mlwwﬁﬁ
ST 1 G < aw 2o e % e
I9h T T ferrfr e 2 |
(A) TSgeHzE 0
(B) T z EE
(C) TR eH
(D) T
(E) 39
44. o dfecM TeH 0 % fore Rl
AR W Y F Regfema
Tt =Ry |
(A) @ (B) qH
(C) =R (D) W
(E) TSR
45. Qﬂ;ﬂ%ﬂ%ﬂ%mmﬁw
* AT i H&W 1 & T, s ity
l gl I 2 |
(A) 9 TS
| (B) far i
(C) T - W TS
I (D) T TS
(E) T

(E) Not attempted

A

«1]1-
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46. What is paint ?
(A) A mixture of water and oil

A dispersion of pigment in drying

[ i

(C) A type of wood varnish

, , =53 ]
(D) A solution of salt in water a i
(E) Not attempted [=]
47. technique permits the direct

reading of any printed character
without any special ink,

(A) Magnetic-Ink Character Recognition
(MICR)

\/({) Optical Character Recognition
(OCR)

(C) Optical Mark Recognition (OMR)

(D) Mouse/keyboard Capture
Recorder (MCR)

(E) Not attempted

48. Mercury cell suitable for low current
devices like hearing aids, watches,
etc. consists of as anode.

(A) Silver-mercury amalgam
« ABJ Lead-mercury amalgam

(C) Pt-mercury amalgam

(D) Zinc-mercury amalgam

(E) Not attempted

49. Choose the option which most closely
resembles water image of the given
word. o

monday 2
(A) yadnom

(C) Aequom

(E) Not attempted

(D) wowuqe)

50. Maximum permissible F.A.R. for

Industrial building is
(A) 1.2 (B) 2
(C) 0.7 tBr 2.5

(E) Not attempted

-12.

'wﬁi;bﬂﬂm

CG - ws24

46, YTFE 7
(A) 9T 3T det =1 frgroy
(B) G =Tet aeT F i = Serg
(C) IS 1T T T TR
(D) 9t % 5k 1 fererm
(E) 3T9=mtéa

47. depiteh form fopeft forie ey
& fopelt +ft gfga arem = D9 w2 |

FHIAfT T B |
(A) HTARH-3h et WRITH
(THATSH TR
(B) JAMher higet IhIfeH (Arfiam)
(C) 3HMeehet HTeh I (Hromamm)
(D) ATSE /HIEIE Hoat ISt (THEHfR)
(E) 3v=nfaa

48. T foga gffel S v o3, wfes

(S 27 IUFH IR H TS T g9 F =7
g BT 2§ | AR
(A) FTE-ur T forseg Zeal
(B) - <t firyreng
(C) Pt-uR =t fazreng
(D) SreT-ur st frsrerg
(E) 3Tvnfa

49, mﬁmmﬁmﬁﬁlﬁ,ﬁﬁqu
%ﬁﬁﬁﬁﬁ%@%l
'munday
(A) yadnom (B) vysbaom
(C) Aequom (D) wowqe2
(E) 3Ty

50. 3MEf Yo ¥ R afean wer
T%h.U. 3R g |
(A) 1.2 (B) 2
(C) 0.7 (D) 2.5
(E) 3TSiya
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(B) Gradient

(C) Super elevation
(D) Stopping distance
(E) Not attempted

52. IS a square or rectangular

block of stone or concrete placed
under beam or truss, to spread the

load over a large area of the wall.

AT Gabble (B) Cleat

(C) Template (D) Verge
(E) Not attempted

is a small metal plate with
three fingers at one end used to take
up the sag of the line.

L/mmgle plate

(B) Scutch plate
(C) Club plate
(D) None of the above

S3.

(E) Not attempted

54. What is the approximate operating
weight of a compact or mini excavator ?

(A) 0.7 to 1.5 tons

~Z-487 1.5 to 3 tons

(C) 3 to S tons

\5,/1‘6) 0.7 to 7.5 tons

(E) Not attempted

51.

S2.

S3.

54.

-13-

CG - WS24

HTaieh fohTR % Teiw & woary 3
el FhR o SR It et w6
T T8 o yen 6 SeaTel 3Ew

I T B |

(A)

(B) @I

(C) Y TferereH
(D) =i feedg
(E) ASEmie

QR % Th 92 &5 o WK %l o™ & forg,
S(H A1 28 o 1o [T T U AT Hishie
___ ] Ueh TR IT JTEAHR Al ¢ |
(A) Taret (B) il

(C) THeie (D) S

(E) 3T9amia

o7g < T B @i 2t & Fess
Teh T W o T Bt 8 S o <Al
Rifrerar i s 2 |

(A) Toe <ie

(B) &9 ®iC

(C) T8 e

(D) SR § § s T8l

(E) 3TSRITR

Teh iy I1 Tl Tehee s g
HTRFET ToF R R ?

(A) 0.7 %] 1.5 ENRE

(B) .58 3 Sikad

(C) 38 5%

(D) 0.7 ¥/ 7.5

(E) TSR
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S5. refers to the software whose
source code is available to customers
and it can be modified and redistributed
without any limitations.

Open Source Software (0SS)
(B) Freeware EINC(E
(C) W3C %
(D) Proprietary software =
(E) Not attempted
96. On 2" October 1959 Jawaharlal Nehru
officially inaugurated the establishment
of Panchayati Raj bodies for the first
time in India in this State,
(A) Tamil Nadu
(B) Karnataka
\/{Cj/lzajasﬂ]an
(D) Himachal Pradesh
(E) Not attempted

S57. A horizontal layer of stones or bricks
1s known as

(A) Course (B) Joint
(C) Bond
(E) Not attempted

58. Chain is composed of piece of
galvanised mild steel wire 4 mm

diameter called
(A) Tallies (B) Rings
(C) Knots \JBP) Links

(E) Not attempted

S9. Why is paint applied to metallic and
wooden articles ?

(A) To make them heavier

(B) To give them a better smell
To protect them from corrosion
and improve their appearance

(D) To make them more brittle
(E) Not attempted

-14-

55.

56.

S7.

S8.

| 50,

mﬂh%mﬁﬁa&h
mmmm¢W$%%
(A) ATHT (3
(B) WTeR (3.5,
(C) W3C
(D) M5 Hited
(E) 315=mfeg
WRT ¥ Teelt aR fra T o 1950
ﬁw%@ﬁmﬁm
TSt b <6t ST 7 Jeare fma -
(A) TfeTg
(B) ®HleH
(C) TSTEM
(D) Tewmeer wesr
(E) T9anfera
el 1 31 i w A wE =y
T ST 2 |
(A) Hi (B) Sise
(C) =TS (D) ST
(E) A9y
4%%%3@%@%@%@%
AigeS Wi 9RR Bt @ Rl ETd
ST § |
(A) st (B) far
(C) A1 (D) Tores
(E) 3Ty
o1 3R T A Txg30 W Fe w9} oy
w%‘? E[T:'.'E]
(A) 3% Wit M % forg AR

B) R IEW g A F oy

(C) 37 &R0 ¥ S=1 31 I7h) 3ufeyfy &
FUR T % for

(D) 3% 3Afee WK &9 % forw

(E)
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64.

by fusion is calleq

V(A]/Welding

(B) Bolting

(C) Riveting

(D) None of the aboye
(E) Not attempted

61. Mix proportion of M20 grade concrete ig

wfﬂﬁ-‘lm (B) 1:2:4

| I B (D) 1:4:8
(E) Not attempted

62. Building having height more than
25.0m and less than 30.0m, Front
space width is

(A) Sm
(C) 3m
(E) Not attempted

63. Which of the following is a -
recommended enlarged scale
according to BIS ?

1:20
(C) 1:1000
(E) Not attempted

Sty ! |

(B) 8: 1

(D)’20:11<! | = %

is a software developed with
an intention to damage hardware
dﬂviceé, steal data or cause any other

trouble to the user.

—

(C) Worms
(D) Ransomware

i“‘*"é‘-m

—

(E) Not attempted

CG - WS24

60. mﬂ%%ﬁﬁmmﬁgﬂﬁm
! el T 2 |

(A) afesm
(B) afeen
(C) fafén
(D) 3wt o B s 7
(E) 3rsifera
61. M20 s Hihie @i o s 2|
(A) 1:1.5:3 (B) 1:2:4
(C) 1:1:2 (D) 1:4:8
(E) v
62. 25.0 H#X ¥ ARt 3K 30.0 fex F =1
T3 dTct Wad g e 6 e
Bl 2 |
(A) 5 i (B) 20 H
(C) 3 Hi (D) 10 =i
(B) 379
63. wAETE % IER F=fofes § ¥ SR-m
o7 AU SERE R 7 R
(A) 1:20 B) 8:1 &
(C) 1:1000 (D) 20: 1
(E) TSR
64. T$ HieaR & Bl s
STHTT 1 THAH TgaH, ST Il A
1 ITANTRAT i Iy 3T NI TE=H &
3w ¥ forfira fomen m R |
INEEER
(B) =&
(€) ==
(D) TR
(E) ST
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65. Which of the following extension is
used to save the excel files ?

(A) .docx L(B)/ Xlsx
(C) .pptx (D) .in E; 12[]
(E) Not attempted fg’%

66. Haryana is the first State to adopt

.‘/ﬁ Mahila Police Volunteer Initiative

g ﬁ}%-gwernanee initiative

(C) Mobile police stations
(D) None of the above
(E) Not attempted

67. Deviation by a prism is least for

(B) Green ray
(D) Yellow ray
(E) Not attempted

68. The type of forests found in the areas
of coasts influenced by tides

(A) Shola Forests
(B) Evergreen Forests
(C) Desert Forests

V(B)/ Mangrove Forests
(E) Not attempted

69. Which type of bulldozer is suitable for
use on marshy land ?

(A) Large sized crawler dozers
(B) Bulldozer shovels
(C) Pipe laying machines

) Swamp bulldozers
(E) Not attempted
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65. Qﬂ%ﬁwﬁﬁam%fﬁq%
(A) .docx (B) .xlsx
(C) .pptx (D) .in
(E) TS
66. aﬁmmg&mm
qEenl U 2 |
(A) witeeT gferd ==t Bt vam
(B) 3-Te-E Tged
(C) icrsfier gferd e
(D) IWie & & $IE 7]
(E) 375
67. T 9 gy fomgem ¥ R
= I |
(A) @ R (B) & e
(C) & fhtor (D) dieft famm
(E) ST5miee
68. WM & Wl SR ¥ TWIfya B &, 9af
TR % T I1C I 8 |
(A) ST
B) 9qEgR 949 EARE
C) e a9 E .
D) #7ig 9
(E) 75

69. 1ohH SR FT ereion qereel it W 3w

% foTC wedt 3vge & 2
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i
k
1
I.
# .5
r.
o
1 ]
¥
|

The_space on both s;j

carriage way o protect the road ig
known as

Shoulders
(C) Camber
(E) Not attempted

(B) Formation
(D) Alignmen t

1. 1s the ratio of built up area
allowed to the plot area available.

m]kTY

. (]

E i

(A) Plinth space index

(B) Floor space index
V[C]/ Plot space index

(D) Space index

(E) Not attempted

72, Aggregate retained on
is identified as coarse aggregate.

L,mﬁ.'?s mm (B) 4.5 mm

(D) 4.75 cm
(E) Not attempted

sieve

73. The of steel is greatly reduced
at temperatures which are commonly

attained in fires.
(A) Colour
(B) Length
(C) Strength
V(ﬁr None of the above
(E) Not attempted

74. is the branch of surveying

which deals with the measurelinents
of relative height or depth of different

point on the surface of the earth.
(A) Contouring

,\/fﬁj/lcaeve]]ing
(C) Tacheometry

(D) Triangulation
(E) Not attempted

CG - ws2q
70 mﬁwimm%%ﬁ
R
(A) Tz (B) WIHIE
(C) S (D) e
(B) arsfem
7. 39T Y@ 2 1 R g B o
FUT 4
(A) TR oy 22
(B) %I 4 529
(C) wiie ¥4 5299
(D) &9 329
(E) 375
72. &+ Tl W T T W T Hie
=g & 9 H Yg=gET S 2 |
(A) 4.75 Tordi B) 4.5 Tt
(C) 4.25 ot (D) 4.75 &t
(E) 3T5Td
73. AUHE WA ERGIE RS

STl & Fored 3meR w3 o0 SR |

(B) TR B
(C) Wite of
(D) ST | ¥ Fis Tl

(E) TSR

AT Hi TH @ 2 | GAT
i wag W fafte fogatt 6t wog F=w I

74.
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CG - WS24

— is known as the brain of 75. I HAE I AR Wl
;:er: ST 8 |
evice A feamga
.Prﬂn_::essing Unit (CPU) "(33))/1?% maf EIFE (’éﬂ“ﬁﬁ)
%En‘l;l:ﬂ ,{_ﬂ WEEI (C) 3‘“32-? ﬁgﬂTﬂH
SE AR (D) T e
mpted ) (I£) AR
the followi - '
lale.?_fl ovangwas thelast [ 76, iRy § 3 9 et 5 3R Ton 17
u Sir?gh (A) Wiz oy fiw
:_a;_; Singh (B) Wk W9 g
ith Singh V(Lg 13 ot e
pted (E) 3T
akkolam’ battle was 77. Wg TR Ig % ® ol
1
=T |

[ Pandyas Q (A) e 3R qrey i.EI ol
-Rastrakutas \IB’)/ T 37T {S¢ehd [
s and Pandyas (C) Tgehe 3R Tigy
P:iaﬂava.s | (D) Iier 3 qgd
> (E) 3T

78. THUHET w7 379f B
ransfer Protocol ‘_/fA/) fquer 7w ?"IHQ—T{ Fﬁaﬁﬁﬁ

' Transfer Protocol
Transfer Protocol
ransmit Protocol

thainechEom
dccurs in the form

(B) Stucco
(D) Slate

e
iculture.

(B) River
@(Iz;ad

(E) 9y
79. TIARK 31T Uit J I BT
Sl STehfereh SIgHT % &9 3 BT |
(A) foream (B) @A
_(ef wmRn D) e
(E) A5l
80 I 3R U T I FERIqor
(H%W)WW%I
(A) TS (B), T
(©) fafeen @) s

81.

82.

83
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83.

84.

85.

EINCEE]
3 [
[ﬂ%

ion _shuuldﬁat exceed
D +o dry weight

water for

(E) Not attempted
are the walls cnnstructed

on both the sides qi;ha_ahutmﬂnts to
] oaches

rctam__wnkmﬂﬂl—ﬂf—m

and M m the

wave w am water.
(B) Approaches

m:hlg — walls (D) Apron
(E) Not attempted

81.

82.

83.

84.

85.
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ws‘r\ﬂﬁ'ﬁmmﬂ%
[A]&;H'-’H
(5)1;’_1;5'35"
gg;mﬂaﬂﬁﬁaﬁéqﬁ
(Eja:mﬂrﬁm
z4aﬁqﬁﬁ§aﬁaﬂt@%ﬂﬂpﬁﬁ
mﬁwﬁgﬁﬁﬂ“*.—f”ﬁ'm
ﬁﬁﬁﬁ@maﬁq' o
(A) 10 (B) i
(c) 20 (D)
{E],ysﬂfﬁm -
aamaww@ﬁﬁa%*ﬁﬁ‘gﬁm
fqﬁﬁﬂﬁﬁm%l
Sadaa

A) 1 B (B)
(C) T (D) &
(E)aqwﬁm .
ﬁﬁﬂasﬁzﬁ___________-ﬁﬂﬂﬁ gHT
mﬁwm%,ﬁsﬂﬁﬁﬁ
m&ﬁﬁtgﬁ%mﬁamw%aﬁtaﬁ%
wﬁwﬁmﬂﬁﬁww%ﬁﬁ
ﬁﬁmiﬁﬁﬂ‘zﬁﬁq{ﬂm‘&rﬂl
(A) T N E
(B) g _ L=
(C)Wﬁ%ﬂt :
(D) ¥ T
(E)mrf%m

d@ﬂ%aﬁﬂaﬁmt@ﬁ%m
aﬂis%trﬁﬁ%nxmﬂzﬂaamﬁwrﬁ
ﬁﬁﬁmwﬁzﬁﬁﬁmmﬁﬁa
a2 |
(A) B (B) =
(©) fem-—a<E (D) T
(E) TSR
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86. If is present in excess raw

bricks shrink and warp during drying

and burning.

\,}A)/Sﬂica ‘
(C) Fly ash
(E) Not attempted

(B) Alumina
(D) Lime

87. Which drilling operation is used for
sizing and improving the geometry
and finish of a previously drilled hole ?

(A) Core drilling

(B) Step drilling
,/Kf( Reaming
ﬁﬁ Counter sinking

(E) Not attempted

[=]72 =]
A

[=]

88. Which letters will come in the place
of question marks ?

“T,R,P,N, L, ?, ?
|/(B<LH

(A) J,G
(€) K,H (D) K,I
(E) Not attempted

g
&
14—~
1
J

89. The bugle of the first war of independence
in 1857 was sounded first by the
people of Haryana at
(A) Panipat
(B) Sonipat
(C) Kurukshetra

P Ambala

(E) Not attempted

90. Which type of line is used for drawing
visible outlines and visible edges ?

(A) Continuous thin line (B type)
f(B] Hatching line (B5 type)
~»lk) Continuous thick line (A type)
(D) Continuous thin freehand line
(C1 type)
(E) Not attempted
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86. dfe FH=hl ¢ A m“ﬁﬁﬁn@
B W AE HE I S P A R
oIl & 3R forepar 81 et § |
REISED (B) Tyt
(C) wTg U (D) <iEH
(E) T

A ) T T

e o R e
TR hT IYINT TohTT ST 2 2
(A) SR fgfer
(B) Ry fgferm
(C) T
(D) h1eex T&fpm
(E) TSR

88. WY I8l % TAM W -4 78R IR 7
T,R,P,N, L, ?, ?

(A) J,G (B) J,H
(C) K,H (D) K,I
(E) 379y
89. TIAMN % &Nl g 1857 % Wy o]
I 7 farer H SSIET T
(A) 9T 2.
(B) Ei-fiu % 5
(C) T8 o
(D) 37T
(E) TS
90. ¥ TGl 3K 3 T < fafia ey R
et TP i e o 3 e s R 2
(A) TR Taelt Yar (B wem)
(B) Bfe &1 (BS Ww)
(C) TR =t Ve (A Ti)
(D) TR vaeht Fereea YaT (C1 F&R)

(E) T9aidyq
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A AD Luuﬂu . TAOTY T N 1 M -qm'i q—i-a- 14 ﬁ

A Going
| . (B) Scor: — T I 2 |
(C) Nosing ?ﬂuﬂ (A) T B) Thife
(D) Flight B)
(E) Not attempteq () e (D) FeTse
(E) 3t
)2. — Carry 70 to 250 vehicles | 92
_ ; TS 70 | 250 AreT Tow ¥ |
(A) Heavy traffic roaq (A) W T T
(B) Medmm traffic road (B) e Iramn dgeh
) Light traffic road
- (C) Teh! AT Te
(D) Very heavy traffic road = wties (D) =&d W T T
(E) Not attempted DRSS (B) 5=
3. Least count of IEVEuln\ii{taﬂ 93 @'%‘F(EF‘- %6 HI W —E;m-( 2
0.05 | .
%}i} : m ) 0.005m A) 0.05 % (B) 0.005 T
) m (D) 0.0005 m C) 0.5 (D) 0.0005 #i
(E) Not attempted E) 3T9Ta

t. A stair turning through two right 94, < AR ¥ YT i BN

angles is known as

D((AfBqurc e fina | & & H M ST 2 |
ate et
(B) Half-Turn Stai A o D0
) Hr (B) TTh- T MR
(C) Quarter-Turn Stair (C) TIeT-2+ il i
(D) 3-Quarter-Turn Stair (D) 3-TIeX-2+ Higl
(E) Not attempted (E) TSR
3 is a fairly impervious 95, TS A1 3I5H WD T HEA e A
barrier constructed across the river SA S 6 foTu wsh g‘@\%rqq cRRCEC ]
or a natural drainage to cfahtfn?in‘t w fafife o et S e R |
artificial lake or reservoir be & A) T (B) T
A) Canal (B) Bridge o e e 4
9(6‘)/Sp1]lway (D) Dam I (E) ST

(E) Not attempted

Size of a standard brick (modular . ‘é"FlT e
bri}k) should be

AA) 19 x 9 x 9 cm

| (A) 19 x 9 x 9 T

(B) 20 x 10 x 9 cm (B) 20 x 10 x 9 Gl
(C) 20 x 9 x 9 cm (C) 20 x 9 x 9 T+t

(D) 20 x 10 x 10 cm (D) 20;(10!10%
(E) Not attempted (E) TR
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97. The order and degree of the differsuiinl | | OF 7a
equation ﬂ“z : [d_y) ; _d?%
1+(_—) +sm dy) " > [1-'-((1}:) T ax } e
dx - dx? st faft 2
ENGE
(A) order = 2 El r (A) PH = 2
degree = 3 feift = 3
(B) order = 2 (B) hH =
degree = 4 feft =4
order = 2 (C) spH =
degree = A feht = A,
(D) order = 2 (D) hH = 2
degree = undefined f&ft = amgfonfe
(E) Not attempted (E) 35T
98. Haryana has a total of revenue | 98, TdHM | RN T g
tehsils at Present. Tediel & | +
(A) 6 (B) 51 (A) 6 (B) 51
(C) 78 JPT 93 (C) 78 (D) 93
(E) Not attempted (E) a]m-ﬂ
99. The is any drainage pipe | g ECIL]
e A .
that carries liquid wastes that do not I B ﬁé It WY % st e e
include human excreta. 5T I T He Hl e Fal 2 |
: [}e)/ Waste Pipe () STIRE Y
(B) Soil Pipe (B) Tirgt ursy B
(C) Vent Pipe . (C) o< U=y ol
(D) Horizontal Pipe (D) &fr TEg -
D0. The programs and data present i the | '
memory is called as i in the | 100. THR # HISE o 3ik 2 5y
(A) Hard copy | ' el Nl %_ |
(B) Blank copy : (A) ‘g:'lé _I
(C) Printed copy . (B) m il
\[Bf Soft copy (C) Tes »idh
(E) Not attempted (D) €% 1t
(E) 3rwania
e

22.
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